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MIXTURE AND ALLIGATION

 [ feJ.k ,oa vuqikr ]

1. In an alloy there  is 12% of copper. To get 69
kg of copper. How much alloy will be required
?

,d feJ/krq esa 12% dkWij gSA 69 fdxzk- dkWij izkIr djus
ds fy, fdruh feJ/krq pkfg, \
(a) 424 kg (b) 575 kg

(c) 828 kg (d) 1736
2

3
 kg

2. A mixture contains spirit and water in the
ratio 3 : 2. If it contains 3 litres more spirit
than water the quantity of spirit in the
mixture is ?

,d feJ.k esa fLifjV vkSj ty dk vuqikr 3 : 2 gSA ;fn bl
fLifjV esa ty 3 yhVj vf/d gks rks feJ.k esa fLifjV dh
ek=kk Kkr djsa \
(a) 10 litres (b) 12 litres
(c) 8 litres (d) 9 litres

3. 40 litres of a mixture of milk and water
contains 10% of water, the water to be added,
to make the water content 20% in the new
mixture is ?

40 yhVj ds feJ.k esa nw/ vkSj ikuh gSA ;fn blesa ikuh dh
ek=kk 10% gS rks u, feJ.k esa ikuh dh ek=kk 20% cukus
ds fy, blesa fdruk ikuh feyk;k tk, ?

(a) 6 litres (b) 6.5 litres
(c) 5.5 litres (d) 5 litres

4. A mixture of 30 litres contain milk and water
in the ratio of 7 : 3. How much water should
be added to it so that the ratio of milk and
water becomes 3 : 7 ?

,d 30 yhVj dh feJ.k esa nw/ vkSj ikuh dk vuqikr 7 :

3 gSA nw/ vkSj ikuh dk vuqikr 3 : 7 cukus ds fy, blesa
fdruk ikuh feyk;k tk, ?

(a) 40 litres (b) 49 litres
(c) 56 litres (d) 63 litres

5. How much pure alcohol has to be added to
400 ml of a solution containing 15% of
alcohol to change the concentration of
alcohol in the mixture to 32% ?

400 fe-yh- ds ,d ?kksy esa 15% ,Ydksgy gSA feJ.k esa
,Ydksgy dh lkanzrk 32% cukus ds fy, blesa fdruk 'kq¼
,Ydksgy feyk;k tk, ?

(a) 60 ml (b) 100 ml
(c) 128 ml (d)  68 ml

6. In what ratio must a grocer mix tea at Rs. 60
a kg. and
Rs. 65 a kg. so that by selling the mixture at
Rs. 68.20 a kg. he may gain 10% ?

60 :i;s@fdxzk- vkSj 65 :i;s@fdxzk- okyh pk; dks fdl
vuqikr esa feyk;k tk, fd feJ.k dks 68.20 :i;s@fdxzk-
cspus ij 10% dk ykHk izkIr gks ?
(a) 3 : 2 (b) 3 : 4
(c) 3 : 5 (d) 4 : 5

7. A barrel contains a mixture of wine and
water in the ratio
3 : 1. How much fraction of the mixture must
be drawn off and substituted by water so that
the ratio of wine and water in the resultant
mixture in the barrel becomes 1 : 1 ?

,d feJ.k esa efnjk vkSj ikuh dk vuqikr 3 : 1 gSA feJ.k
esa ls fdruk Hkkx fudkyk tk, vkSj mruk gh ikuh feyk;k
tk, rks feJ.k esa efnjk vkSj ikuh dk vuqikr 1 : 1 gks tk,
?

(a) 
1

4
(b) 

1

3

(c) 
2

3
(d) 

4

3

8. In 50 gm alloy of gold and silver, the gold is
80% by weight. How much gold should be
mixed to this alloy so that the weight of gold
would become 95% ?

50 xzke ds feJ/krq esa lksuk vkSj pk¡nh gSA ftlesa lksus dk
Hkkj 80% gSA feJ/krq esa fdruk vkSj lksuk feyk;k tk, fd
lksus dk Hkkx 95% gks tk, ?

(a) 200 gm (b) 150 gm
(c) 50 gm (d) 10 gm

9. There are 81 litres pure milk in a container.
One-third of milk is replaced by water in the
container. Again one-third of mixture is
extracted and equal amount of water is
added. What is the ratio of milk to water in
the new mixture ?

,d crZu esa 81 yhVj 'kq¼ nw/ gSA ,d&frgkbZ nw/ dks ikuh
ls foLFkkfir fd;k tkrk gSA nksckjk ,d&frgkbZ feJ.k fudkyk
tkrk gS blesa bruk gh ikuh feyk;k tkrk gS rks u, feJ.k
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esa nw/ vkSj ikuh dk vuqikr D;k gksxk ?
(a) 1 : 2 (b) 1 : 1
(c) 2 : 1 (d) 4 : 5

10. In 80 litres mixture of milk and water the
ratio of amount of milk to that of amount of
water is 7 : 3. In order to make this ratio 2 :
1 how many litres of water should be added
?

80 yhVj ds feJ.k esa nw/ vkSj ikuh dh ek=kk dk vuqikr
7 : 3 gSA 2 : 1 vuqikr cukus ds fy, blesa fdrus yhVj ikuh
feyk;k tk, ?

(a) 5 (b) 6
(c) 8 (d) 4

11. Vessels A and B contain mixtures and 5 : 1
respectively. In what ratio should quantities
of mixture be taken from A and B to form a
mixture in which milk to water is in the ratio
5 : 4 ?

crZu A vkSj B ds feJ.k esa nw/ vkSj ikuh dk vuqikr 4 :

5 vkSj 5 : 1 gSA crZu A vkSj B esa fdl vuqikr esa feJ.k
fudkyk tk, fd nw/ vkSj ikuh dk vuqikr 5 : 4 gks tk, ?

(a) 2 : 5 (b) 4 : 3
(c) 5 : 2 (d) 2 : 3

12. The milk and water in a mixture are in the
ratio 7 : 5. When 15 litres of water are added
to it. The ratio of milk and water in the new
mixture becomes 7 : 8. The total quantity of
water in the new mixture is ?

,d feJ.k esa nw/ vkSj ikuh dk vuqikr 7 : 5 gSA tc blesa
15 yhVj ikuh feyk;k tkrk gS rks u, feJ.k esa nw/ vkSj ikuh
dk vuqikr 7 : 8 gks tkrk gSA u, feJ.k esa ikuh dh dqy
ek=kk crk,a ?
(a) 35 litres (b) 40 litres
(c) 60 litres (d) 96 litres

13. 200 litres of a mixture contains 15% water
and the rest is milk. The amount of milk that
must be added to that the resulting mixture
contains 87.5% milk is ?

200 yhVj ds feJ.k esa 15% ikuh gS vkSj 'ks"k nw/ gSA u,
feJ.k esa 87.5% nw/ cukus ds fy, blesa fdruk nw/
feyk;k tk, ?

(a) 30 litres (b) 35 litres
(c) 40 litres (d) 45 litres

14. A person has a chemical of Rs. 25 per litre.
In what ratio should water be mixed with
chemical the mixture at Rs. 20 litres he may
get profit of 25% ?

,d vkneh ds ikl 25 :i;s izfr yhVj okyk jlk;u gSA
fdl vuqikr esa ikuh dks jlk;u esa feyk;k tk, rkfd feJ.k
dks 20 :i;s izfr yhVj cspus ij 25% dk ykHk izkIr gks ?

(a) 14 : 9 (b) 16 : 9
(c) 9 : 14 (d) 9 : 16

15. 7 kg of tea costing Rs. 280 per kg is mixed
with 9 kg of tea costing Rs. 240 per kg. The
average price per kg of mixed tea is ?

280 :i;s izfr fdxzk- dh 7 fdxzk- pk; dks 240 :i;s izfr
fdxzk- dh 9 fdxzk- pk; ds lkFk feyk;k tkrk gSA fefJr pk;
dk vkSlr ewY; izfr fdxzk- crk,a ?
(a) Rs. 255.80 (b) Rs. 257.50
(c) Rs. 267.20 (d) Rs. 267.50

16. In what ratio must a mixture of 30% alcohol
strength be mixed with that of 50% alcohol
strength so as to get a mixture of 45% alcohol
strength ?

30% ,Ydksgy ek=kk okys feJ.k dks 50% ,Ydksgy ek=kk
okys feJ.k esa fdl vuqikr esa feyk;k tk, fd u, feJ.k
esa 45% ,Ydksgy gks ?
(a) 1 : 2 (b) 1 : 3
(c) 2 : 1 (d) 3 : 1

17. In a 729 litres mixture of milk and water,
the ratio of milk to water is 7 : 2. To get a
new mixture containing milk and water in
the ratio 7 : 3, the amount of water to be
added is ?

729 yhVj okys feJ.k esa nw/ vkSj ikuh dk vuqikr 7 : 2

gSA blesa fdruk yhVj ikuh feyk;k tk, rkfd u, feJ.k esa
nw/ vkSj ikuh dk vuqikr 7 : 3 gks tk,  ?
(a) 81 litres (b) 71 litres
(c) 56 litres (d) 50 litres

18. In a 40 litres mixture of milk and water the
ratio of milk to water is 7 : 1. In order to make
the ratio of milk and water 3 : 1, the quantity
of water (in litres) that should be added to
the mixture will be ?

40 yhVj ds feJ.k esa nw/ vkSj ikuh dk vuqikr 7 : 1 gSA
blesa fdruk ikuh (yhVj esa) feyk;k tk, rkfd u, feJ.k
esa nw/ vkSj ikuh dk vuqikr 3 : 1 gks tk, ?

(a) 6
2

3
(b) 6

1

2

(c) 99 (d) 6
3

4

19. In an alloy, zinc and copper are in the ratio
1 : 2. In the second alloy, the same elements
are in the ratio 2 : 3. If these two alloys be
mixed to form a new alloy in which two
elements are the ratio 5 : 8, the ratio of these
two alloys in the new alloys is ?

,d feJ/krq esa ftad vkSj dkWij dk vuqikr 1 : 2 gSA nwljs
feJ/krq esa ftad vkSj dkWij dk vuqikr 2 : 3 gSA ;fn bu
nksuksa feJ/krqvksa dks feyk;k tk, rks u, feJ/krq esa ftad
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vkSj dkWij dk vuqikr 5 : 8 gks tkrk gS] rks u, feJ/krq
esa bu nksuksa feJ/krqvksa dk vuqikr crkvks ?
(a) 3 : 10 (b) 3 : 7
(c) 10 : 3 (d) 7 : 3

20. A jar contained a mixture of two liquids A
and B in the ratio 4 : 1. When 10 litres of the
mixture was taken out and 10 litres of liquid
B was poured into the jar. This ratio became
2 : 3. The quantity of liquid A contained in
the jar initially was ?

,d tx esa nzo A vkSj nzo B ds feJ.k dk vuqikr 4 : 1

gSA tc 10 yhVj ds feJ.k dks fudky dj vkSj 10 yhVj
nzo B esa Mkyk tkrk gS rks tx esa nzo A vkSj nzo B dk
vuqikr 2 : 3 gks tkrk gSA izkjaHk esa nzo A dh ek=kk crk,a
?
(a) 4 litres (b) 8 litres
(c) 16 litres (d) 40 litres

21. In a mixture of 75 litres, the ratio of milk to
water is 2 : 1. The amount of water to be
further added to the mixture so as to make
the ratio of milk and water 1 : 2 will be ?

75 yhVj okys feJ.k esa nw/ vkSj ikuh dk vuqikr 2 : 1

gSA feJ.k esa fdruk vkSj ikuh feyk;k tk, rkfd nw/ vkSj
ikuh dk vuqikr 1 : 2 gks tk, ?

(a) 45 litres (b) 60 litres
(c) 75 litres (d) 40 litres

22. A and B are two alloys of gold and copper
prepared by mixing metals in the ratio 5 : 3
and 5 : 11 respectively. Equal quantities of
these alloys are melted to form a third alloy
C. The ratio of gold and copper in the alloy C
is ?

lksus vkSj dkWij dh nks feJ/krq,a A vkSj B dks 5 : 3 vkSj
5 : 11 ds vuqikr esa feykus ls cuk;k tkrk gSA rhljh feJ/
krq C dks cukus ds fy, bu nksuksa feJ/krqvksa dks cjkcj ek=kk
esa fi?kyk;k tkrk gSA feJèkkrq C esa lksus vkSj dkWij dk
vuqikr crkvks ?

(a) 25 : 13 (b) 33 : 15
(c) 15 : 17 (d) 17 : 15

23. Two types of alloys possess gold and silver
in the ratio
7 : 22 and 21 : 37. In what ratio should these
alloys be mixed so as to have a new alloy in
which gold and silver would exist in the ratio
25 : 62 ?

lksus vkSj pk¡nh dh nks feJ/krqvksa esa lksus vkSj pk¡nh dk
vuqikr 7 : 22 vkSj 21 : 37 gSA bu nksuksa feJ/krqvksa dks
fdl vuqikr esa feyk;k tk, rkfd ubZ feJ/krq esa lksus vkSj
pk¡nh dk vuqikr 25 : 62 tks ?
(a) 13 : 8 (b) 8 : 13

(c) 13 : 12 (d) 6 : 9
24. An alloy contains zinc, copper and tin in the

ratio 2 : 3 : 1 and an other contains copper,
tin and lead in the ratio
5 : 4 : 3. If equal weights of both alloys are
melted together to form a third alloy, then
the weight of lead per kg in the new alloy
will be ?

,d feJ/krq esa ftad] dkWij vkSj fVu dk vuqikr 2 : 3 :

1 gSA nwljh feJ/krq esa dkWij] fVu vkSj lhls dk vuqikr 5
: 4 : 3 gSA ;fn leku Hkkj okyh bu feJ/krqvksa dks ,d lkFk
fi?kyk;k tkrk gS rks ,d ubZ feJ/krq curh gSA u, feJ/
krq esa lhls dk izfr fdyks Hkkj crk,a ?

(a) 
1

2
 kg (b) 

1

8
 kg

(c) 
3

14
 kg (d) 

7

9
 kg

25. The ratio in which tea costing Rs. 192 per
kg is to be mixed with tea costing Rs. 150
per kg so that the mixed tea, when sold for
Rs. 194.40 per kg gives a profit of 20% is ?

192 :i;s izfr fdyksxzke vkSj 150 :i;s izfr fdyksxzke
okyh pk; dks fdl vuqikr esa feyk;k tk, rkfd fefJr pk;
dks :i;s 194.40 izfr fdyksxzke ij cspus ij 20% dk
ykHk gks ?
(a) 2 : 5 (b) 23 : 5
(c) 5 : 3 (d) 5 : 2

26. The ratio of the quantities of sugar, in which
sugar costing Rs. 20 per kg and Rs. 15 per
kg should be mixed so that here will be
neither loss nor gain on selling the mixed
sugar at the rate of Rs. 16 per kg is ?

20 :i;s izfr fdxzk- vkSj 15 :i;s izfr fdxzk- okyh phuh
dks fdl vuqikr esa feyk;k tk, rkfd fefJr phuh dks :i;s
16 izfr fdxzk- ij cspus ij u rks ykHk gks vkSj u gh gkfu
gks ?
(a) 2 : 1 (b) 1 : 2
(c) 4 : 1 (d) 1 : 4

27. In one glass, milk and water are mixed in
the ratio 3 : 5 and in another glass they are
mixed in the ratio 6 : 1. In what ratio should
the content of the two glasses be mixed
together so that the new mixture contains
milk and water in the ratio 1 : 1 ?

,d fxykl esa nw/ vkSj ikuh dks 3 : 5 ds vuqikr esa feyk;k
tkrk gS vkSj nwljs fxykl esa bUgsa 6 : 1 ds vuqikr esa feyk;k
tkrk gSA u, feJ.k esa nksuksa fxyklksa ds nzo dks fdl vuqikr
esa feyk;k tk, rkfd nw/ vkSj ikuh dk vuqikr 1 : 1 gks tk,
?
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(a) 20 : 7 (b) 8 : 3
(c) 24 : 7 (d) 25 : 9

28. A mixture of 40 litres of milk and water
contains 10% of water. How much water
must be added to make the water 20% in
the new mixture ?

nw/ vkSj ikuh okys 40 yhVj feJ.k esa ikuh 10% gSA u,
feJ.k esa ikuh 20% cukus ds fy, blesa fdruk ikuh
feyk;k tk, ?

(a) 10 litres (b) 7 litres
(c) 5 litres (d) 3 litres

29. A mixture contains wine and water in the
ratio 3 : 2 and another mixture contains
them in the ratio 4 : 5. How many litres of
the latter must be mixed with 3 litres of the
former so that the resultant mixture may
contain equal quantities of wine and water
?

,d feJ.k esa efnjk vkSj ikuh dk vuqikr 3 : 2 gSA nwljs
feJ.k esa efnjk vkSj ikuh dk vuqikr 4 : 5 gSA fdrus yhVj
nwljk feJ.k igys okys 3 yhVj feJ.k esa feyk;k tk, rkfd
u, feJ.k esa efnjk vkSj ikuh dh ek=kk leku gks ?

(a) 1
2

3
 litre (b) 5

2

5
 litre

(c) 4
1

2
 litre (d) 3

3

4
 litre

30. A mixture of 80 litres of wine and water
contains 60 percent wine how much water
must be added to make it 50 percent wine in
the new mixture ?

efnjk vkSj ikuh okys 80 yhVj feJ.k esa 60% efnjk gSA
fdruk ikuh feyk;k tk, rkfd u, feJ.k esa efnjk 50%

gks ?
(a) 16 litres (b) 18 litres
(c) 1.6 litres (d) 20 litres

31. In a mixture of 60 litres. The ratio of milk
and water is
2 : 1. How much more water must be added
to make its ratio 1 : 2 ?

60 yhVj feJ.k esa nw/ vkSj ikuh dk vuqikr 2 : 1 gSA
fdruk vkSj vfrfjDr ikuh feyk;k tk, rkfd vuqikr 1 :

2 gks tk, ?

(a) 40 litres (b) 52 litres
(c) 54 litres (d) 60 litres

32. In what ratio Darjeeling Tea costing Rs. 320
per kg be mixed with Assam Tea costing Rs.
250 per kg so that there is a gain of 20% by
selling the mixture at Rs. 324 per kg ?

320 :i;s izfr fdxzk- nktZfyax pk; dks 250 :i;s izfr
fdxzk- vle pk; dks fdl vuqikr esa feyk;k tk, rkfd

fefJr pk; dks 324 :i;s izfr fdxzk- ij cspus ij 20%

dk ykHk gks ?
(a) 1 : 2 (b) 2 : 3
(c) 3 : 2 (d) 2 : 5

33. The ratio of milk and water in mixture of four
containers are 5 : 3, 2 : 1 and 7 : 4
respectively. In which container is the
quantity of milk, relative to water, minimum
?

pkj crZuksa esa nw/ vkSj ikuh dk vuqikr Øe'k% 5 : 3, 2 :

1, 3 : 2 vkSj 7 : 4 gSA dkSu ls crZu esa nw/ dh ek=kk ikuh
ds laca/ esa de gS ?
(a) First (b) Second
(c) Third (d) Fourth

34. The ratio of the volumes of water and
glycerine in 240cc of mixture is 1 : 3. The
quantity of water (in cc) that should be
added to the mixture so the volumes of water
and glycerine becomes 2 : 3 is ?

240cc ds feJ.k esa ikuh vkSj fxyljhu ds vk;ru dk
vuqikr 1 : 3 gSA fdruk ikuh feyk;k tk, rkfd u, feJ.k
esa ikuh vkSj fxyljhu dk vuqikr 2 : 3 cu tk, ?

(a) 55 (b) 60
(c) 62.5 (d) 64

35. The ratio of the quantities of acid and water
in a mixture is 1 : 3. If 5 litres of acid is
further added to the mixture, the new ratio
becomes 1 : 2. The quantity of new mixture
in litres is ?

,d feJ.k esa vEy vkSj ikuh dk vuqikr 1 : 3 gSA ;fn blesa
5 yhVj vEy vkSj feyk;k tkrk gS rks vuqikr 2 : 1 gks tkrk
gSA u, feJ.k dh ek=kk crk,a ?
(a) 32 (b) 40
(c) 42 (d) 45

36. In a mixture of 25 litres, the ratio of acid to
water is 4 : 1. Another 3 litres of water is
added to the mixture. The ratio of acid to
water in the new mixture is ?

25 yhVj okys feJ.k esa vEy vkSj ikuh dk vuqikr 4 : 1

gSA blesa 3 yhVj ikuh vkSj feyk;k tkrk gS rks u, feJ.k esa
vey vkSj ikuh dk vuqikr crk,a ?
(a) 5 : 2 (b) 2 : 5
(c) 3 : 5 (d) 5 : 3

37. Two equal vessels are filled with the mixtures
of water and milk in the mixtures of water
and milk in the ratio of 3 : 4 and 5 : 3
respectively. If the mixtures are poured into
a third vessel, the ratio of water and milk in
the third vessel will be ?

nks leku crZuksa dks ikuh vkSj nw/ ds 3 : 4 vkSj 5 : 3 ds
vuqikr ls Hkjk tkrk gS ;fn bu feJ.kksa dks rhljs crZu esa
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Mkyk tkrk gS rks u, feJ.k esa ikuh vkSj nw/ dk vuqikr
crk,a ?
(a) 15 : 12 (b) 53 : 59
(c) 20 : 9 (d) 59 : 53

38. Two vessels A and B contains acid and water
in the ratio 4 : 3 and 5 : 3 respectively. Then
the ratio in which these mixture to be mixed
to obtain a new mixture in vessel C
containing acid and water in the ratio 3 : 2
is ?

nks crZuksa A vkSj B esa vEy vkSj ikuh dk vuqikr 4 : 3 vkSj
5 : 3 gSA rks nks feJ.kksa dks fdl vuqikr esa feyk;k tk,
rkfd crZu C esa cuk, feJ.k esa vEy vkSj ikuh dk vuqikr
3 : 2 gks ?
(a) 5 : 8 (b) 7 : 8
(c) 7 : 5 (d) 4 : 7

39. Two containers have acid and water mixed
respectively in the ratio 3 : 1 and 5 : 3. To
get a new mixture with ratio of acid to water
as 2 : 1, the two types have to be mixed in
the ratio ?

nks crZuksa esa vEy vkSj ikuh dk vuqikr Øe'k% 3 : 1 vkSj
5 : 3 gSA bu feJ.kksa dks fdl vuqikr esa feyk;k tk, rkfd
u, feJ.k esa vEy vkSj ikuh dk vuqikr 2 : 1 gks tk, ?

(a) 1 : 2 (b) 2 : 1
(c) 2 : 3 (d) 3 : 2

40. Acid and water are mixed in a vessel A in
the ratio of
5 : 2 and in the vessel in the ratio 8 : 5. In
what proportion should quantities be taken
out from the two vessels so as to form a
mixture in which the acid and water will be
in the ratio of 9 : 4 ?

crZu A esa vEy vkSj ikuh dk vuqikr 5 : 2 gSA crZu B esa
vEy vkSj ikuh dk vuqikr 8 : 5 gSA nksuksa crZuksa ls fdl
vuqikr esa feJ.k fudkyk tk, rkfd u, feJ.k esa vEy vkSj
ikuh dk vuqikr 9 : 4 gks ?
(a) 7 : 2 (b) 2 : 7
(c) 7 : 4 (d) 2 : 3

41. The acid and water in two vessels A and B
are in the ratio 4 : 3 and 2 : 3. In what ratio
should the liquids in both the vessels be
mixed to obtain a new mixture in vessel C
containing half acid and half water ?

nks crZuksa A vkSj B esa vEy vkSj ikuh dk vuqikr 4 : 3 vkSj
2 : 3 gSA nksuksa crZuksa ds nzo dks fdl vuqikr esa feyk;k tk,
rkfd crZu C esa cus u, feJ.k esa vk/k vEy vkSj vk/k
ikuh gks ?
(a) 7 : 5 (b) 5 : 7
(c) 7 : 3 (d) 5 : 3

42. The ratio of spirit and water in two mixtures
of 20 litres and 36 litres is 3 : 7 and 7 : 5
respectively. Both the mixtures are mixed
together. Now the ratio of the spirit and water
in the new mixture is ?

20 yhVj vkSj 36 yhVj ds nks feJ.kksa esa fLifjV vkSj ikuuh
dk vuqikr 3 : 7 vkSj 7 : 5 gSA nksuksa feJ.kksa dks ,d lkFk
feyk fn;k tkrk gS rks u, feJ.k esa fLifjV vkSj ikuh dk
vuqikr crkvksa ?
(a) 25 : 29 (b) 9 : 10
(c) 27 : 29 (d) 27 : 31

43. Two vessels A and B contain acid and water
mixed in the ratio 2 : 3 and 4 : 3. In what
ratio must these mixtures be mixed to form
a new mixture containing half acid and half
water ?

nks crZuksa A vkSj B esa vEy vkSj ikuh dk vuqikr 2 : 3 vkSj
4 : 3 gSA u;k feJ.k cukus ds fy, nksuksa feJ.kksa dks fdl
vuqikr esa feyk;k tk, rkfd u, feJ.k esa vk/k vEy vkSj
vk/k ikuh gks ?
(a) 5 : 7 (b) 1 : 2
(c) 2 : 1 (d) 7 : 5

44. Alcohol and water in two vessels A and B
are in the ratio 5 : 3 and 5 : 4 respectively.
In what ratio, the liquids in both the vessels
be mixed to obtain a new mixture in vessel
C in the ratio 7 : 5 ?

nks crZuksa A vkSj B esa ,Ydksgy vkSj ikuh dk vuqikr 5 :

3 vkSj 5 : 4 gSA nksuksa crZuksa ds nzo dks fdl vuqikr esa
feyk;k tk, rkfd crZu C esa cus u, feJ.k esa ,Ydksgy
vkSj ikuh dk vuqikr 7 : 5 gks ?
(a) 2 : 3 (b) 3 : 2
(c) 3 : 5 (d) 2 : 5

45. A vessel is filled with liquid, 3 parts of which
are water and 5 parts are syrup. How much
of the mixture must be drawn off and
replaced with water so that the mixture may
be half water and half syrup ?

,d crZu nzo ls Hkjk gqvk gS ftlesa 3 Hkkx ikuh gS vkSj 5
Hkkx flji gSA fdruk feJ.k ckgj fudkyk tk, vkSj mruk
gh ikuh feyk;k tk, rkfd feJ.k esa vk/k ikuh vkSj
vk/k flji gks ?

(a) 
1

3
(b) 

1

4

(c) 
1

5
(d) 

1

7

46. Two vessels A and B contain milk and water
mixed in the ratio 4 : 3 and 2 : 3. The ratio in
which these mixtures be mixed to form a new
mixture containing half milk and half water
is ?
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nks crZuksa A vkSj B esa nw/ vkSj ikuh dk vuqikr 4 : 3 vkSj
2 : 3 gSA nksuksa crZuksa dks fdl vuqikr esa feyk;k tk, rkfd
u, feJ.k esa vkèkk nw/ vkSj vk/k ikuh gks ?
(a) 7 : 5 (b) 6 : 5
(c) 5 : 6 (d) 4 : 3

47. A container contains 60 kg of milk. From this
container 6 kg of milk was taken out and
replaced by water. This process was repeated
further two times. The amount of milk left in
the container is ?

,d crZu esa 60 fdxzk- nw/ gSA blesa ls 6 fdxzk- nw/ ckgj
fudkyk tkrk gS vkSj mruk gh ikuh Mkyk tkrk gSA ;g izfØ;k
yxkrkj nks ckj vkSj dh tkrh gSA crZu esa 'ks"k cps gq, nw/
dh ek=kk crk,a ?
(a) 34.24 kg (b) 39.64 kg
(c) 43.74 kg (d) 47.9 kg

48. Two vessels A and B contain milk and water
mixed in the ratio 8 : 5 and 5 : 2 respectively.
The ratio in which these two mixtures be
mixed to get a new mixture containing

69
3

13
% milk is ?

nks crZuksa A vkSj B esa nw/ vkSj ikuh dks Øe'k% 8 : 5 vkSj
5 : 2 ds vuqikr esa feyk;k tkrk gSA nksuksa feJ.kksa dks fdl
vuqikr esa feyk;k tk, rkfd u, feJ.k esa nw/ dh ek=kk

69
3

13
% gks tk, ?

(a) 3 : 5 (b) 5 : 2
(c) 5 : 7 (d) 2 : 7

49. In two types of stainless steel, the ratio of
chromium and steel are 2 : 11 and 5 : 21
respectively. In what proportion should the
two types be mixed to that the ratio of
chromium to steel in the mixed type becomes
7 : 32 ?

nks izdkj ds taxjks/d ihry ds crZuksa esa Øksfe;e vkSj ihry
dk vuqikr 2 : 11 vkSj 5 : 21 gSA nksuksa izdkj ds crZuksa dks
fdl vuqikr esa feyk;k tk, rkfd u, izdkj ds crZu esa
Øksfe;e vkSj ihry dk vuqikr 7 : 32 gks A
(a) 2 : 3 (b) 3 : 4
(c) 1 : 2 (d) 1 : 3

50. A and B are two alloys of gold and copper in
the ratio 7 : 2 and 7 : 11 respectively. If equal
quantities of these two alloys are melted to
form a new alloy C, then the ratio of gold
and copper in C is ?

nks feJ/krqvksa A vkSj B esa lksus vkSj dkWij dk vuqikr 7
: 2 vkSj 7 : 11 gSA ;fn leku ek=kk dks bu nksuksa feJ/krqvksa
dks fi?kyk;k tkrk gS rks ,d ubZ feJ/krq C curh gS rks

feJ/krq C esa lksus vkSj dkWij dk vuqikr Kkr djsa ?
(a) 6 : 5 (b) 9 : 4
(c) 12 : 7 (d) 7 : 5

51. A can contains a mixture of two liquids A
and B in the ratio 7 : 5. When 9 litres of
mixture are drained off and the can is filled
with B, the ratio of A and B becomes 7 : 9.
How many litres of liquid A was contained
by the can initially ?

crZu esa nzo A vkSj nzo B ds feJ.k dk vuqikr 7 : 5 gSA
tc 9 yhVj dk feJ.k ckgj fudkyk tkrk gS vkSj nzo B ls
Hkjk tkrk gS rks A vkSj B dk vuqikr 7 : 9 gks tkrk gSA rks
crkvksa izkjaHk esa nzo A fdrus yhVj Fkk ?
(a) 10 (b) 20
(c) 21 (d) 35

52. Two vessels contain milk and water in the
ratio 3 : 2 and 7 : 3. Find the ratio in which
the contents of the two vessels have to be
mixed to get a new mixture in which the ratio
of milk and water is 2 : 1 ?

nks crZuksa esa nw/ vkSj ikuh dk vuqikr 3 : 2 vkSj 7 : 3 gSA
fdl vuqikr esa nksuksa feJ.kksa dk feyk;k tk, rkfd u,
feJ.k esa nw/ vkSj ikuh dk vuqikr 2 : 1 izkIr gks ?
(a) 2 : 1 (b) 1 : 2
(c) 4 : 1 (d) 1 : 4

53. A shopkeeper bought 15 kg of rice at the rate
of Rs. 29 per kg and 25 per kg of rice at the
rate of 20 per kg. He sold the mixture of both
types of rice at the rate of Rs. 27 per kg. His
profit in this transaction is ?

,d nqdkunkj 15 fdyks /ku 29 :i;s izfr fdxzk- vkSj 25

fdyks /ku 20 :i;s izfr fdyksxzke ds Hkko ls [kjhnrk gSA
og nksuksa izdkj ds /kkuksa ds feJ.k dks 27 :i;s izfr
fdyksxzke ds Hkko ls csprk gSA iwjh izfØ;k esa mldk ykHk
crkvks ?
(a) Rs. 125 (b) Rs. 150
(c) Rs. 140 (d) Rs. 145

54. The proportion of acid and water in three
samples is 2 : 1, 3 : 2 and 5 : 3. A mixture
containing equal quantities of all three
samples is made. The ratio of water and acid
in the mixture is ?

rhu iz;ksxksa esa vEy vkSj ikuh dk vuqikr 2 : 1, 3 : 2, 5

: 3 gSA leku ek=kk ds rhuksa iz;ksxksa ls ,d feJ.k cuk;k tkrk
gSA feJ.k esa ikuh vkSj vEy dk vuqikr crkvks ?
(a) 120 : 133 (b) 227 : 133
(c) 227 : 120 (d) 133 : 227

55. Two alloys are both made up of copper and
tin. The ratio of copper and tin in the first
alloy is 1 : 3 and in the second alloy is 2 : 5.
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In what ratio should the two alloys be mixed
to obtain a new alloy in which the ratio of
tin and copper be 8 : 3 ?

nks feJ/krq,a dkWij vkSj fVu ls cuh gSA igyh feJ/krq esa
dkWij vkSj fVu dk vuqikr 1 : 3 gS vkSj nwljh esa 2 : 5 gSA
nksuksa feJ/krqvksa dks fdl vuqikr esa feyk;k tk, rkfd u,
feJ/krq esa fVu vkSj dkWij dk vuqikr 8 : 3 gks ?
(a) 3 : 5 (b) 4 : 7
(c) 3 : 8 (d) 5 : 11

56. A mixture contains alcohol and water in the
ratio 4 : 3. If
5 litres of water is added to the mixture, the
ratio becomes 4 : 5. The quantity of alcohol
in the given mixture is ?

,d feJ.k esa ,Ydksgy vkSj ikuh dk vuqikr 4 : 3 gSA ;fn
blesa 5 yhVj ikuh feyk fn;k tk, rks vuqikr 4 : 5 cu
tkrk gSA rks crkvks fn, x, feJ.k esa ,Ydksgy dh ek=kk
fdruh gS ?
(a) 3 litres (b) 4 litres
(c) 15 litres (d) 10 litres

57. 15 litres of a mixture contains alcohol and
water in the ratio 1 : 4. If 3 litres of water is
mixed in it, the percentage of alcohol in the
new mixture will be ?

15 yhVj okys feJ.k esa ,Ydksgy vkSj ikuh dk vuqikr 1
: 4 gSA ;fn blesa 3 yhVj ikuh feyk fn;k tkrk gS rks u,
feJ.k esa ,Ydksgy dk izfr'kr crkvks ?

(a) 15% (b) 16
2

3
%

(c) 17% (d) 18
1

2
%

58. Three vessels whose capacities are in the
ratio of 3 : 2 : 1 are completely filled with
milk mixed with water. The ratio of milk and
water in the mixture of vessels are 5 : 2, 4 :

1 and 4 : 1 respectively. Taking 
1

3
 of first, 

1

2

of second and 
1

7
 of third mixtures, a new

mixture kept in a new vessel is prepared.
The percentage of water in the new mixture
is ?

nw/ ls Hkjs gq, rhu crZuksa dh /kfjrk 3 : 2 : 1 gSA rhuksa dks
ikuh ls feyk fn;k tkrk gSA crZuksa esa nw/ vkSj ikuh dk

vuqikr 5 : 2, 4 : 1 vkSj 4 : 1 gks tkrk gSA igys ls 
1

3
]

nwljs ls 
1

2
 vkSj rhljs ls 

1

7
 feJ.k fudkydj ,d u, crZu

esa j[kk tkrk gSA u, feJ.k esa ikuh dk izfr'kr crkvks ?

(a) 32 (b) 28
(c) 30 (d) 24

59. The ratio in which two sugar solutions of the
concentrations 15% and 40% are to be mixed
to get a solution of concentration 30% is ?

lkanzrk 15% vkSj 40% okys nks phuh ds ?kksyksa dks fdl
vuqikr esa feyk;k tk, rks lkanzrk 30% okyk ?kksy izkIr gks
?
(a) 2 : 3 (b) 3 : 2
(c) 8 : 9 (d) 9 : 8

60. Nikita bought 30 kg of wheat at the rate of
Rs. 9.50 per kg and 40 kg of wheat at the
rate of Rs. 8.50 per kg and mixed them. She
sold the mixture at the rate of Rs. 8.90 per
kg. Her total profit or loss in the transaction
was ?

fufdrk us 30 fdyks xsgw¡ 9.50 :i;s izfr fdxzk- vkSj 40

fdyks xsgw¡ 8.50 :i;s izfr fdxzk- ls [kjhnsA nksuksa dks feykus
ds ckn og feJ.k dks 8.90 :i;s izfr fdxzk- ls csprh gSA
rks crkvks iwjh izfØ;k esa fdruk ykHk ;k fdruh gkfu gqbZ ?
(a) Rs. 2 loss (b) Rs. 2 profit
(c) Rs. 7 loss (d) Rs. 7 profit

61. How many kg. of salt at 42 paise per kg must
a man mix with 25 kg of salt at 24 paise per
kg, so that he may, on selling the mixture at
40 paise per kg gain 25% on the outlay ?

fdrus fdyks ued dks 42 iSls izfr fdxzk- dks 25 fdyks
ued dks 24 iSls izfr fdxzk- esa feykdj cus feJ.k dks 40

iSls izfr fdxzk- cspus ij 25% dk ykHk gks ?
(a) 20 (b) 30
(c) 40 (d) 50

62. A mixture of a certain quantity of milk with
16 litres of water is worth 90 paise per litre.
If pure milk be worth Rs.  1.80 per litre. How
much milk is there in the mixture ?

,d feJ.k esa ,d fuf'pr ek=kk ds nw/ dks 16 yhVj ikuh
esa feykdj 90 iSls izfr yhVj cspk tkrk gSA ;fn 'kq¼ nw/
dk ewY; 1.80 :i;s izfr yhVj gks rks feJ.k esa nw/ dh ek=kk
crkvks ?
(a) 40 litres (b) 16 litres
(c) 60 litres (d) 80 litres

63. A gold smith has two qualities of gold, one of
12 carats and another of 16 carats purity.
In what proportion should he mix both to
make an ornament of 15 carats purity ?

,d lqukj ds ikl nks izdkj dk lksuk gSA ,d 12 dSjsV okyk
vkSj nwljk 16 dSjsV 'kq¼rk okykA og nksuksa dks fdl vuqikr
esa feyk, rkfd og 15 dSjsV 'kq¼rk okyk vkHkw"k.k cuk
lds ?
(a) 1 : 3 (b) 2 : 3
(c) 3 : 2 (d) 3 : 1
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64. 300 kg of sugar solution has 40% sugar in
it. How much sugar should be added to make
it 50% in the solution ?

300 fdxzk- ds phuh ds ?kksy esa 40% phuh gSA fdruh phuh
vkSj feyk nh tk, rkfd ;g ?kksy esa 50% cu tk, ?
(a) 40 kg (b) 50 kg
(c) 60 kg (d) 80 kg

65. 729 ml of a mixture contains milk and water
in the ratio 7 : 2. How much more water is to
be added to get a new mixture containing
milk and water in the ratio 7 : 3 ?

729 fe-yh- ds ,d feJ.k esa nw/ vkSj ikuh dk vuqikr 7
: 2 gSA blesa fdruk ikuh feyk;k tk, fd u, feJ.k esa ;g
vuqikr 7 : 3 esa gks tk, ?
(a) 60 ml (b) 71 ml
(c) 52 ml (d) 81 ml

66. Three vessels whose capacities are 3 : 2 : 1
are completely filled with milk ad water. The
ratio of milk and water in the mixture of
vessels are 5 : 2, 4 : 1 and 4 : 1 respectively.

Taking 
1

3
 of first, 

1

2
 of the second and 

1

7
 of

third mixtures, a new mixtures, kept in a
new vessel is prepared. The percentage of
water in the new mixture is ?

rhu ik=kksa dh {kerkvksa dk vuqikr 3 : 2 : 1 gS vkSj os nw/
rFkk ikuh ds feJ.k ls Hkjs gq, gSaA rhuksa ik=kksa esa nw/ vkSj ikuh
dk vuqikr Øe'k% 5 : 2, 4 : 1 vkSj 4 : 1 gSA igys ik=k

esa ls 
1

3
 Hkkx] nwljs ik=k esa ls 

1

2
 Hkkx feJ.k rFkk feJ.k rFkk

rhljs ik=k esa ls 
1

7
 Hkkx fudky dj ,d u;s ik=k esa j[kk

tkrk gSA rks u;s feJ.k esa ikuh dk izfr'kr Kkr djsa ?
(a) 32 (b) 28
(c) 30 (d) 24

67. 60 kg of an alloy A is mixed with 100 kg of
alloy B. If alloy A has lead and tin in the
ratio 3 : 2 and alloy B has tin and copper in
the ratio 1 : 4, the amount of tin in the new
alloy is ?

60 fdyks feJ/krq A dks 100 fdyks feJ/krq B ds lkFk
fefJr fd;k tkrk gSA ;fn feJ/krq A esa lhlk vkSj fVu 3

: 2 ds vuqikr esa gks vkSj feJ/krq B esa fVu vkSj rk¡ck 1
: 4 ds vuqikr esa gks] rks ubZ feJ/krq esa fVu dh ek=kk gksxh
?
(a) 44 kg (b) 53 kg
(c) 80 kg (d) 24 kg

68. The blends of a commodity costing Rs. 35
and Rs. 40 per kg respectively are mixed in
the ratio 2 : 3 by weight. If one-fifth of the
mixture is sold at Rs. 46 per kg and the
remaining at the rate Rs. 55 per kg the profit
percent is ?

fdlh oLrq ds Øe'k% :i;s 35 vkSj :i;s 40 izfr fdxzk- dh
ykxr okys nks feJ.kksa dks otu ds vuqlkj 2 : 3 ds vuqikr
esa fefJr fd;k tkrk gSA ;fn 1/5 feJ.k :i;s 46 izfr
fdxzk- vkSj 'ks"k :i;s 55 izfr fdxzk dh nj ls cspk tkrk gS
rks ykHk izfr'krrk fdruh gS ?
(a) 50 (b) 20
(c) 40 (d) 30

69. Three glasses of equal volume contain acid
mixed with water. The ratio of acid and water
are 2 : 3, 3 : 4 and 4 : 5 respectively. Contents
of these glasses are poured in a large vessel.
The ratio of acid and water in the large
vessel is ?

leku vk;ru okys rhu fxyklksa esa ikuh ds lkFk vEy fefJr
gSA vEy rFkk ikuh dk vuqikr Øe'k% 2 : 3, 3 : 4 vkSj 4
: 5 gSA bu fxyklksa ds inkFkZ dks ,d cM+s crZu esa Mkyk tkrk
gSA cM+s crZu esa vEy vkSj ikuh dk vuqikr D;k gksxk ?
(a) 417 : 564 (b) 401 : 544
(c) 406 : 560 (d) 411 : 540

70. Two types of tea costing Rs. 180 kg and Rs.
280 kg should be mixed that obtained
mixture sold at Rs.  320 kg to earn a profit of
20% is ?

:i;s 180 fdxzk- vkSj :i;s 280 fdxzk- ykxr okyh nks
fdLe dh pk; fdl vuqikr esa feyk nh tk, fd izkIr feJ.k
dks :i;s 320 fdxzk- dh nj ij cspus ij 20% dk ykHk
vftZr gks ?
(a) 3 : 13 (b) 4 : 13
(c) 1 : 13 (d) 2 : 13

Answer Sheet

1. (b) 2. (d) 3. (d) 4. (a) 5. (b) 6. (a) 7. (b) 8. (b) 9. (d) 10. (d)
11. (c) 12. (b) 13. (c) 14. (d) 15. (b) 16. (b) 17. (a) 18. (a) 19. (a) 20. (c)
21. (c) 22. (c) 23. (a) 24. (b) 25. (a) 26. (d) 27. (a) 28. (c) 29. (b) 30. (a)
31. (d) 32. (d) 33. (c) 34. (b) 35. (d) 36. (a) 37. (d) 38. (b) 39. (a) 40. (a)
41. (a) 42. (c) 43. (a) 44. (a) 45. (c) 46. (a) 47. (c) 48. (d) 49. (c) 50. (d)
51. (c) 52. (b) 53. (d) 54. (d) 55. (b) 56. (d) 57. (b) 58. (d) 59. (a) 60. (a)
61. (a) 62. (b) 63. (a) 64. (c) 65. (d) 66. (d) 67. (a) 68. (c) 69. (b) 70. (d)


